

$6,848 : 2 =$

$63,6 : 3 =$

$4,662 : 2 =$

$6,668 : 2 =$

$4,66 : 2 =$

$4,48 : 4 =$

2	/	6	,	8	4	8	\	3	/	6	3	,	6	\	
2	/	4	,	6	6	2	\	2	/	6	,	6	6	8	\
2	/	4	,	6	6	\	4	/	4	,	4	8	\		



$$6,848 : 2 = 3,424$$

$$4,662 : 2 = 2,331$$

$$4,66 : 2 = 2,33$$

$$63,6 : 3 = 21,2$$

$$6,668 : 2 = 3,334$$

$$4,48 : 4 = 1,12$$

$2 \overline{) 6,848}$	$3,424$	$3 \overline{) 63,6}$	$21,2$
0	8	0	3
0	8	0	3
0	4	0	6
0	4	0	6
0	8	0	0
0	8		
0	0		

$2 \overline{) 4,662}$	$2,331$	$2 \overline{) 6,668}$	$3,334$
0	6	0	6
0	6	0	6
0	6	0	6
0	2	0	8
0	2	0	8
0	0	0	0

$2 \overline{) 4,66}$	$2,33$	$4 \overline{) 4,48}$	$1,12$
0	6	0	4
0	6	0	4
0	6	0	8
0	0	0	8
0	0	0	0

